Professor Fred Katiraie Calculus | Form B Quiz Six

Name:

1. Find all value(s) of c (if any) that satisfy the conclusion of the Mean Value Theorem

for the function f (x) = (x—3)°on the interval [0,1] (3 points)
2. Given that the function f (X)=x®+ax? +bx has critical numbers at X = 2,
and X=-1, find aand b. (3 points)

3. Find the minimum value of the function f(X)=X Inx
(Must Justify Your Answer) (3 points)



4. Find all the points of inflection of f (X) = x3e~X
(Must Justify Your Answer) (3 points)

2
5. Find the Critical numbers of the function f (X) = X3(x—3)?
(3 points)

6. Farmer Brown wants to fence in a rectangular plot in a large field, using a rock
wall which is already there as the north boundary. The fencing for the east and
west sides of the plot will cost $3/yard, but she needs to use special fencing which
will cost $5/yard on the south side of the plot. If the area of the plot is to be 600
square yards, find the dimensions for the plot which will minimize the cost of the

fencing. (5 points)



